Semi-automatic procedure to align a DAC on 11.3.1 

1) Align DAC on beam:

1. Put DAC on kinematic mount, Be-backing plate facing downstream.

2. Put Si-diode in (use electric switch next to TV monitors; make sure CCD detector is not interfering with diode before switching diode on)

3. In “Motor Monitor”, drive ‘beamstop x’ to 2.0

4. Open the shutter in the Bruker Software (Instrument -> Toggle Shutter)

5. In “Motor Monitor” use ‘HP sx’ and ‘HP sy’ to jog the cell on beam-position as indicated by crosshairs on TV monitor.

6. Open DAC centering windows (Motor -> Align HP DAC; Motors -> Edit centering parameters)

7. In window “DAC centering .vi”, select Align X and Y only (right hand side of window.) 

8. In window “Setup DAC centering parameters” choose “align sx” on lower most field.

9. Set the following parameters: 

a. “Motor name” = HP sx; 

b. “AT name” = Iend, 

c. “Type of fit” = none; 

d. “Start” => set value to [present position – 0.2 mm] (present position can be read in Motor monitor.

e. “Stop” => set value to [present position + 0.2 mm] (present position can be read in Motor monitor.

f. “Increment” = 0.02 mm (in a second iteration, this shoud be set to 0.01 mm.

g. “Average time” = 0.5 s

h. “Theta motor” = HP sample rotation

i. “Offset angle” = 0 degs.

j. “Z-axis motor” = Hp sz.

10. Save (Function -> save)

11. In window “Setup DAC centering parameters” choose “align y” on lower most field.

12. Set the following parameters: 

a. “Motor name” = HP sy; 

b. “AT name” = Iend, 

c. “Type of fit” = none; 

d. “Start” => set value to [present position – 0.15 mm] (present position can be read in Motor monitor.

e. “Stop” => set value to [present position + 0.15 mm] (present position can be read in Motor monitor.

f. “Increment” = 0.02 mm (in a second iteration, this shoud be set to 0.01 mm.

g. “Average time” = 0.5 s

h. “Theta motor” = HP sample rotation

i. “Offset angle” = 0 degs.

j. “Z-axis motor” = Hp sz.

13. Save (Function -> save)

14. Choose “Start scan” in window “DAC centering .vi”; follow instructions in lower most field of window (select peaks).

15. When finished, you may or may not want to ru a second iteration with refined scan parameters (Start, Stop, Increment).

Now your sample is aligned on the beam. 

 Next thing is to move the sample on the rotation axis along ‘HP sz’. I you just want to do a test shot to check your sample, you may omit the following steps.

2) Align DAC on rotation axis (can only be done when step 1) is finished):

1 In window “DAC centering .vi”, select Align ‘Find Z offset and x’ (right hand side of window.) 

2 In window “Setup DAC centering parameters” choose “align sx” on lower most field.

3 Set the following parameters: 

a. “Motor name” = HP sx; 

b. “AT name” = Iend, 

c. “Type of fit” = none; 

d. “Start” => set value to [present position – 0.2 mm] (present position can be read in Motor monitor.

e. “Stop” => set value to [present position + 0.2 mm] (present position can be read in Motor monitor.

f. “Increment” = 0.02 mm (in a second iteration, this shoud be set to 0.01 mm.

g. “Average time” = 0.5 s

h. “Theta motor” = HP sample rotation

i. “Offset angle” = 5 degs.

j. “Z-axis motor” = Hp sz.

4 Save (Function -> save)

5 Choose “Start scan” in window “DAC centering .vi”; follow instructions in lower most field of window (select peaks).

6 The routine performs two scans at rotation angles positive ”Theta motor” and negative “Theta motor”. You are requested to select the center of the peak after each scan. It is important that you choose this center very carefully. After the second scan, the routine proposes a correction shift along “Z-axismotr” (should be HP sz) and asks you to accept or reject. You will normally accept. After this the routine drives to zero degs rotation and performs one last scan to center the cell on the beam.

7 If the suggested correction was large (i.e. > 0.1 mm), we propose a second iteration of the same procedure, possibly with a larger angle. Beware that too large angles can cause beam-clipping problems with many cells. This will make the centering impossible.

